1) Rashid was _____ football player in the team.
- tallest
- the taller
- the tallest (superlative >> the …. Est)
- taller

2) Speaking Chinese is ___ writing Chinese. (comparative form, between two things) 
- easy
- easier than
- the easiest
- hardest than

3) One of the following words begins with a prefix (a set of letters before a word) : ______
- unreasonable
- play
- write
- read

4) We add the suffix ______ to the word ( individual ) to change it into a verb.
- ation 
- cal
- ize ( individualize) 
- ese

5) The part speech of the word ( aggressively ) is : ______
- Verb (action) 
- Noun (name of things, objects, people, places, cities, countries…etc.)
- Adverb (describes how the action is done)
- Adjective (gives more information about the noun/ describes the noun)

6) Arab students are known of their sagacity. They are really smart. What does ( sagacity ) probably mean?
- sleepiness
- wisdom
- thoughtlessness (the state of thinking nothing)
- negligence

7) In Syria, there are fatalities and wounded (injured, still alive, but they are hurt) people. What does “fatalities” mean?
- winner
- victims (you are dead, deceased)
- those who are fat
- teachers






8) When you travel around airports, one person will stop by and ask you ( How ____ items of luggage do you have,
Sir? )
- Many
- Much
- A lot of
- Number

9) Nowadays, people feel sorry as they don't have great _____ time to sit with their friends and families.
- Number Of
- Deal of
- Many
- much

10) How _____ piles of billions of dollars are spent, over there, on spaceship? 
- Many
- some
- much
- quite a few 

11) ____ is in the truck? my son. (My son is in the truck)
- who
- what
- whose
- how

12) ______ is the key? on the desktop.
- why
- which
- when
- where

13) _______ did you land? At 11 o’clock
- where
- how far
- how long
- when








Every second, 1 hectare of the world's rainforest is destroyed. That's equivalent to two football fields. An area the size of New York City is lost every day. In a year, that adds up to 31 million hectares – more than the land area of Poland. This alarming rate of destruction has serious consequences for the environment; scientists estimate, for example, that 137 species of plant, insect or animal become extinct every day due to logging. In British Columbia, where, since 1990, thirteen rainforest valleys have been clear cut, 142 species of salmon have already become extinct, and the habitats of grizzly bears, wolves and many other creatures are threatened. Logging, however, provides jobs, profits, taxes for the government and cheap products of all kinds for consumers, so the government is reluctant to restrict or control it.

Much of Canada's forestry production goes towards making pulp and paper. According to the Canadian Pulp and Paper Association, Canada supplies 34% of the world's wood pulp and 49% of its newsprint paper. If these paper products could be produced in some other way, Canadian forests could be preserved. Recently, a possible alternative way of producing paper has been suggested by agriculturalists and environmentalists: a plant called hemp.

However, there is a problem: hemp is illegal in many countries of the world. This plant, so useful for fibre, rope, oil, fuel and textiles, is a species of cannabis, related to the plant from which marijuana is produced. In the late 1930s, a movement to ban the drug marijuana began to gather force, resulting in the eventual banning of the cultivation not only of the plant used to produce the drug, but also of the commercial fibre-producing hemp plant. Although both George Washington and Thomas Jefferson grew hemp in large quantities on their own land, any American growing the plant today would soon find himself in prison -- despite the fact that marijuana cannot be produced from the hemp plant, since it contains in the drug. 

14) What is the main idea of Paragraph One? 
- Scientists are worried about New York City
- Logging is destroying the rainforests
- Governments make money from logging
- Salmon are an endangered species


15) How many species of salmon have become extinct in Before Christ?
- 27
- 31
- 137
- 142

16) The main idea of paragraph two is:
- Canadian forests are especially under threat
- Hemp is a kind of plant
- Canada is a major supplier of paper and pulp
- Canada produces a lot of hemp



17) How much of the World’s newsprint paper is supplied by Canada?
- 31%
- 49%
- 34%
- 19%


18) What drug can be obtained from a relative of hemp?
- Cocaine
- heroin
- Amphetamine
- marijuana

19) The underlined pronoun (it) in paragraph one refers to ...
- logging
- government
- product
- reluctant

20) The underlined pronoun (its) in paragraph two refers to ...
- newsprint paper
- World
- Canadian Pulp and Paper Association
- Canada

21) The underlined pronoun (it) in paragraph three refers to ...
- paper
- food
- fiber
- Hemp


22) When have 13 rainforest valley been clear-cut. 
- since the nineteenth century
- since the 2O century
- since the 21 century
- Since the eighteenth century

23) what does ( alternative way ) means?
- usual way
- another way
- normal way
- unsafe way

24) How long does it take for 100 hectares of rainforest to be destroyed? 
- less than two minutes
- about an hour
- two hours
- a day


25) Why is pulp and paper production important to Canada?
- Canada needs to find a way to use all its spare wood.
- Canada publishes a lot of newspapers and books.
- Pulp and paper export is a major source of income for Canada.
- none of the above is correct.

26) Who is suggesting that pulp and paper could be produced without cutting down trees ?
- the logging industry
- the agriculturalists 
- the environmentalists
- Both the environmentalists and agriculturalists 

27) Why was the plant hemp essential to world-Wide trade in the past?
- Hemp was useful for ropes, fiber, oil, fuel and textiles.
- Hemp was a very profitable export.
- Hemp was used as fuel for ships.
- Hemp was used as food for sailors.



28) Why do agriculturalists think that hemp would be better for paper production than trees?
- It is cheaper to grow hemp than to cut down trees.
- More paper can be produced from the same area of land.
- Hemp produces higher quality paper
- none of the above is correct.

29) "Every second, one hectare of the world's rainforest is destroyed. That's equivalent to two football fields. What does "equivalent to" mean?
- more than
- less than
- the same as (adds up to, equivalent) 
- none of the above is correct





30) "In British Columbia, where, since 1990, thirteen rainforest valleys have been clear cut, 142 species of salmon have already become extinct." What does "clear cut" mean?
- a few trees have been cut down
- many trees have been cut down
- all the trees have been cut down
- none of the trees have been cut down


31) "Logging, however, provides jobs, profits, taxes for the government and cheap products of all kinds for consumers, so the government is reluctant to restrict or control it." What does "reluctant" mean?

- doesn't want to
- is not allowed to
- would like to
- none is true

32) "According to its proponents, four times as much paper can be produced from land using hemp rather than trees." What does "proponents" mean?
- people who are against something
- people who support something
- people in charge of something
- none of the above is correct.

33) Many species of wildlife are becoming extinct,______ the rainforests are destroyed.
- therefore (correct)
- since
- so (correct)
- Consequently (more correct, better usage) 

34) _______ logging provides jobs and profits, the government is reluctant to control it.
- So
- Consequently
- Due to
- Since (Because)


35) Hemp can be used to make paper,______ it could reduce the need for logging.
- therefore
- so
- due to
- because



36) Hemp was grown throughout history ______ its versatility; it can be used to make many different things.
- because of
- because
- since
- as a result



37) In many countries, education is compulsory. Every citizen must learn reading and writing. What does compulsory mean?
- required
- universal (for everyone)
- available ( it is found everywhere.)
- everyone


38) The downtown shopping area is now a pedestrian zone-in other words. Anyone can walk except cars. What does the word a pedestrian mean?
- an area for cars
- an area for kids only
- an area for workers only
- an area for walkers

39) The global economy crisis affects the entire world. What does the word entire mean?
- Few
- No one
- All
- Never

40) Palestinians should determine their present and future. No one else can decide that. What does the word determine mean?
- Make a guess
- Make a decision
- Repeat
- Fly


41) When Sara was sick, her voice was almost inaudible. We couldn't hear what she was trying to say clearly.
- Very loud, easy to hear
- Very soft, hard to hear
- Very strong, uncommon
- Very shy, introverted


42) Each one of the students ______ the core of the educational process.
- is
- are
- were
- sometimes



43) We change the meaning of word ( polite ) into its opposite by adding the prefix ____
- Dis 
- In 
- Un 
- Im 

44) To change the word ( thought ) into adjective form, we add the suffix ___
- ful
- ly
- tion
- al

45) The Sociolinguistics class was rescheduled. ______ , everyone was depressed.
- because
- As
- Since
- So

46) The desserts tastes very well. _________ , we ate too much.
- as a result
- Because
- while
- When

47) We change the meaning of the word “possible” into its opposite by adding prefix:___:
- im
- in
- Dis
- Un


48) ______ are you leaving? – Because  I am feeling sick. 
- how
- what
- why
- when


49) ______ class do you prefer? English one.
- what
- whose
- which
- who



50) ______ did she say? she would not study tonight
- how
- who
- which
- what

51) ______ is your university? — It’s very good
- how
- how often
- how far
- how long

52) ______ do Muslims pray a day? Five times
- how far
- how long
- how often
- when

53) The ____ place from Australia is Chile. It's on the other side of the World.
- farther than
- farthest
- farther
- farthest than

54) I don’t think that your BMW car is ______ my Mercedes.
- faster
- faster than
- fastest than
- fastest




55) We add the prefix ____ to the word ‘‘regular’’ to change it into its negative meaning.
- ir
- ize
- ation
- cal

56) _____ car is that? – it’s Omar's.
- who
- which
- whose
- whom


57) _____ does it take you to land? 13 hours
- how often
- how long
- how far
- how

58) _________ is the Mall from your house? - 17 Kms
- how
- how often
- how long
- how far

59) I took some money from my bank account to buy some groceries. Then I began to cook. What does groceries probably mean?
- some food
- a bad dream
- a cigarette
- a book

60) Some lasers are very treacherous, deadly. What does treacherous mean?
- exciting
- nice
- dangerous
- safe


61) Please stop gossiping! The exam has already started. What does gossiping probably mean?
- sleeping
- talking
- working
- typing

62) Arab people are identical to all people around the world because we are all humans. What does identical probably mean?
- different
- difficult
- same
- exactly the Opposite

63) Many Arab explorers stirred around the world. What does stirred probably mean?
- Stopped moving
- slept in the grass
- ate something
- moved or traveled

64) The word “decisive” is _______
- A verb
- an adjective
- an adverb
- a noun

65) We change the meaning of the word “agreement’’ into its opposite by adding the prefix...
- un
- in
- im
- Dis

66) If you suffer asthma, don’t go to Mexico City. It is one of the ____ cities in the world
- polluter than
- more polluted
- pollute
- most polluted

67) The first adventurers to come to Canada were astonished by its vast ____
- wilding
- wildly
- wilderness (noun)
- none of the above

68) The moon is ___ the sun
- smaller
- smaller than
- The smallest
- The smaller

69) Babies can’t ingest hard food because they have no teeth. What does the word ingest probably mean?
- eat
- biggest
- not engage
- not reject



70) My manager promised to dispatch letters of admission very soon but I have not received the letters yet. What does ‘dispatch” mean?
- to travel
- to send off
[bookmark: _GoBack]- to work
- to delete
